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)} How long is the line?

8 cm

35X 10 X 10 =35 X [ 100 |

How many more people were
in the café at I13:00 than 4:00?
5
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0900 10:00 100 12:00 I3:00 M:00 I5:00

Time

What is one quarter less than one whole? %





image2.png
Flashback U4 Year5 Week10 Day1

)
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3)

Given I7 X 5 = 34, work out I7 X 500 3,400 LIII

Find the product of 48 and ,000 48,000

N
3

At what time was the café
busiest?  12:00

*
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%
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0900 10:00 100 12:00 I3:00 M:00 I5:00

Time

Write 0.7 in words. seven fenths
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N CCLI

Work out the perimeter 8 mm

of the rectangle. 20 mm  2m IE:E'Z o

P —
8 mm

Divide 600 by 100 6

What was the temperature on Thursday? 15°C

\ Monday | Tuesday |Wednesday | Thursday | Friday
2°c | 1|°Cc I°c 5°C | 13°C

Find the fotal of 1,375 and 2,81 4,186
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Work out the perimeter
of the rectangle. 36 cm

Work out 47,000 <+ 100 470

How many girls are there
in total? 5|

Dora spends £3.96
How much change will she get from £10? £6.04
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)} Find the perimeter of the shape.

78 cm
39,800 ~ 10 =~ 10 398
What time did the 07:05 train [ o

get to Ashford? 0742 e

Ashford

Gravesend





